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 Σωστή  απάντηση : 
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 Σωστή  απάντηση : 
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       r  = Ι α     α  =  = σταθ.  ομαλά επιταχ. κίνηση
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t  = t    T = 1sec
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x  = 2x    λ = 0,5 m
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1f =  = 1 Hz
T

 υ = λ f   υ = 0,5 m/s Γ2.  
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 ω = 2πf = 2π rad/s
      α  = ω Α = 4π 0,2 = 8 m/s

 φ  = 2π(t - 2x )  και  φ  = 2π(t - 2x ),  άρα
Δφ       φ  - φ  = 2π(2x  - 2x ) = 4π(x  - x )  x  - x  =  = 1m
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 r  = 0    T (AΓ) - Μg (OA) = 0    

Mg       T 2(OA) = Μg (OA)    T =  = 15 N
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L ML ML MLI  = I  + M  =  +  =  = 1 Kg m
4 12 4 3

LΜgr 2       r  = I α    α  =  =  = 15 rad/s  
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εώρημα έργου - ενέργειας  
       Κ  - Κ  = W

1 L       Ι ω  - 0 = Μg     
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MgL       ω =  = 30 rad/s
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